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INTRODUCTION:

Public expenditure refers to the expenditure incurreq |},
government to maintain the economy and maintain jtse|;” . ! th
incurred to satisfy collective social wants. In the Ninete,, i
cenl‘ury most of the economies followed the policy of laigg, [np
that is the policy of non-intervention. The role of govemme”t ::rp
nominal and hence public expenditure was not givep m -
importance. However, in the twentieth century the roje of .ﬂlﬁ

had changed from that of a p%ltl? to that of a welfar, , st
Due to this public expmdi been increasing rapidly h
modern states.

Public expenditure is an important socio-economic too] ;, in b,

hands of the govemﬂem It help: ﬂﬂ EEYSHIMENL {0 achiey, ,

variety of objectives 1 @7; qﬂ otior Bf social welfare, conty »
: depression, acceler growt 1 development etc. pyy;
exPendﬂure In mo w_._.,c UCh essential to deve

and for providing pypj,
a. the economy In 3
~ has  increage
IMDE Offaﬂm
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providing education, g social welfare by

facilities transport,

expenditure. This reason given WW i
s Wagner’s law of expenditraliaElE o

pefence Expenditure: Defenca +
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has increased over a period of tinie. War and threats of it
force the governments to ir -"’*'  Fheaeld g
year after year. The fear of An
by the possession of nuclez -

Inflation: The continuous rise in the
- government to spend more a d i*—‘r .
and services to the peépm rd "*:i : o
of the people, the government ha
allowances to its employees which inc

incurred by the government.
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developed by the public sector and hence the rise in Pubj;

expenditure.
(9) Other Reasons:

(a) Modern governments incur huge *
of public debt is one of IR SEASCES for ity
public expenditure in countries like India. Various Ype.
of subsidies are provided by the mf)dem BOVEMments |
promote the consumption of certain gf:mds and S€TVice,
and to help poorer sections of the society. For e, f, .
subsidy, fertilizer subsidy etc. Subsidies, at preg,
constitute a major item of expenditure of u
government. |
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‘shuuld be avoided. It should be incurred productively and
efﬁf‘i‘-’“”y so that social welfare can be maximised.

canon ©of Sanction: This canon implies that public
eﬂ“‘mﬁlum should be incurred after getting the prior
P,;-rmis:;imm from the authority concerned. This is required to
ensure proper use of the funds and also to ensure economy.

‘canon of Surplus: According to this canon the government
should avoid a deficit budget. The budget of the government
will be an ideal one when the revenue is more than its
expendihlrﬁ'- Hence this canon suasm that there should be
reasonable saving on the part of the government.
part from the above four main canons, other canons |
) sugges ted by econamist&réﬁ on of elast
 public expenditure should be flexibl
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| lps the government to acl
ance. It heIPf'* & mneet e

ectives. It is very val 1able for
reloped and developing countries. 1t

(1) Economic growth and develo]
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j;;zlsop;d.nat_i_ops, public expenditure aims at controlling 4,
counf;ies i‘lntammg stability and full employment. In “apit "
Social se = USA, UK etc. governments spend a huge Ell'lfl‘iﬂllihst
develo g System to promote the welfare of the Peop]e O
accel PINg countries like India the role of public expendityre ; N
e €rate economic growth and development. The i 1S t,
II?{OPulahon 1s huge in India whereas the resources are li:r: y
€nce the government has to use the resources Optimally Mtﬁd
problems like poverty, unemployment, inequality, etc. Hee;:i tany
addressed. To protect the weaker sections the following measzrbe
. €S

are adopted in India:
(1) Social sect ity ' weasures: This
-:|] !.. : _,.__._ | ; %
 grou nte low mcome gI'OI.Ips are
alth and educational facilities
B . . : 4
nd free ships, reservation o
utions and governmep
section to get equal rights,
: - Various insurance
th Insurance Scheme,
de insurance cover for

indudes old age Pension

sickness benefits This
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- measures aims at
tives of fiscal policy.
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i1 in the blanks:

Public expenditure refers to the
n) Revenue expenditure jg

_f ) gxpenditure on \
~ expenditure.

g) Old age pension is an example of __expenditure,
Ans.: (8) government (b) recurring (e) capital (d) transfor]

state whether the following statements are true or false:

Capital expenditure adds to the assets of the country.
war expenditure is productive in nature. '

a)
b)
g) Revenue expenditure should be greater than capital expenditure.
e)
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oxpenditure.

— In nature,
Infrastructure s an  example ol

public expenditure is ever increasing in all countries.

Expenditure incurred on education is productive in nature.
f) All modern states are welfare states. . '

) Public expenditure refers to the expenditure c
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fAns.: (a) True (b) False (c) False (d) True e) True (f) True (g) False]
gatch the following: T ok

: -

1) Payment of interest
2) Unemployment allowances
3) Expenditure cin’educatiog

4) Urbanisation

Ans.: (1-d;2-a;,3-b,4-¢) o
Yefine public expenditure. What are ”1‘ se:
yublic expenditure? 23 - T
Explain the different types of public e
at is the significance of public expenditure
Enumerate the significance of pu venditi
Write short notes on: "
(a) Canons of public expendit are. _
(b) Types of public expenditure.
(c) Significance of public expenditure
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